
 

Strathmore Machinery, Inc. 
P.O. Box 11 
Strathmore, CA 93267 

Corner of Highway 65 & Avenue 196 
Strathmore, CA 93267 
(559) 568-1914 

 

(559) 568-1914 
PARTS LIST 
 
STRATHMORE WHEEL TYPE DISC  
Before Serial  No. 6629 (with 1 1/8” Square Axle) 
AND 3-PT. LIFT TYPE OFFSET DISC 
Suggested Price Schedule Effective  March 2017 
All Prices F.O.B. Strathmore, CA 93267 
All Prices Subject to Change Without Notice 

 
 Part		

No.	 DESCRIPTION								#	of	Blades	 LENGTH	OF	AXLE	 	
17	 Axle	1	1/8"	Sq.															4	 30	3/4"	 	

	
																																										5	 39	7/8"	 	

	
																																										6	 49"	 	

	
																																										7	 58	1/8"	 	

	
																																										8	 67	1/4"	 	

	
																																										9	 76	3/8	 	

	 																																								10	 85	1/2"	 	
	 																																								11	 94	5/8”	 	
	 																																								12	 103	3/4"	 	

18	 Washer	G-30	
	

	
19	 Half	Spool	SMW-LT2	

	
	

20	 Half	Spool	SMW-LT1	
	

	
21	 Spool	A-108	

	
	

23	 Bearing	Assembly,	Reg	3/4"	Bolt	 	
24	 Washer	G-22	

	
	

25	 Lock	Washer	
	

	
26	 Axle	Nut		1	1/8”	

	
	

27	 Bearing	Housing	SMW-LT3	
	

	
28	 Bearing	Mount	

	
	

29	 Bearing	W-210	PP-2	
	

	
30	 Lock	Ring	

	
	

31	 Rear	Scraper	
	

	

	
Font	Scraper	

	
	

31	 End	Scraper											(1)	Front	 (1)	Rear	 	
32	 Low	Profile	Scraper	 	 	
	 	 	 	
	 X	–	Model	3PT.		OFFSET	 	 	

19	 Half	Spool	X-1	 	 	
20	 Half	Spool	X-2	 	 	
21	 Spool	A-108	 	 	
29	 Bearing	W208	PPB-5	 	 	
30	 80	MS	Flangettes	(per	pair)	 	 	



 

Strathmore Machinery, Inc. 
P.O. Box 11 
Strathmore, CA 93267 

Corner of Highway 65 & Avenue 196 
Strathmore, CA 93267 
(559) 568-1914 

 

(559) 568-1914 
PARTS LIST 
 
STRATHMORE WHEEL TYPE DISC  
After Serial  No. 6629 (w/ 1 1/2” Round Axle) 
 
Suggested Price Schedule Effective  March 2017 
All Prices F.O.B. Strathmore, CA 93267 
All Prices Subject to Change Without Notice 

 
  

Part		
No.	 DESCRIPTION								#	of	Blades	 LENGTH	OF	AXLE	 	
17	 Axle	1	1/2"	Round												6	 49	3/4"	 	

	
with	Steel	Flange														7	 58	7/8"	 	

	
																																													8	 68"	 	

	
																																													9	 77	1/8"	 	

	
																																											10	 86	1/4"	 	

	
																																											11	 95	3/8	 	

18	 Washer	ST-30	
	

	
19	 Half	Spool	ST-2	

	
	

20	 Half	Spool	ST-1	
	

	
21	 Spool	ST-108	

	
	

23	 Bearing	Assembly,	Reg	3/4"	Bolt	 	
24	 Washer	ST-22	

	
	

25	 Cotter	Pin	
	

	
26	 Axle	Nut	1	1/4"	

	
	

	
Axle	Nut	1	1/2"	

	
	

27	 Bearing	Housing	LT-3	
	

	
28	 Bearing	Mount	

	
	

29	 Bearing	W-210	PP-2	
	

	
30	 Lock	Ring	

	
	

31	 Rear	Scraper	
	

	

	
Font	Scraper	

	
	

31	 End	Scraper									(1)	Front	 (1)	Rear	 	
32	 Low	Profile	Scraper	 	 	



 

Strathmore Machinery, Inc. 
P.O. Box 11 
Strathmore, CA 93267 

Corner of Highway 65 & Avenue 196 
Strathmore, CA 93267 
(559) 568-1914 

 

(559) 568-1914 
PARTS LIST 
 
HVY. STRATHMORE WHEEL TYPE DISC  

MODEL H 
 
Suggested Price Schedule Effective  March 2017 
All Prices F.O.B. Strathmore, CA 93267 
All Prices Subject to Change Without Notice 

 
 
  
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
  
  

Part		
No.	 DESCRIPTION						#	of	Blades	 LENGTH	OF	AXLE	 	
17	 Axle	1	1/2"	Round											6	 49	3/4"	 	

	
with	Steel	Flange													7	 58	7/8"	 	

	
																																												8	 68"	 	

	
																																												9	 77	1/8"	 	

	
																																										10	 86	1/4"	 	

	
																																										11	 95	3/8	 	

18	 Washer	ST-30	
	

	
19	 Half	Spool	ST-2	

	
	

20	 Half	Spool	ST-1	
	

	
21	 Spool	ST-108	

	
	

23	 Bearing	Assembly,	Hvy.	7/8"	Bolt	 	
24	 Washer	ST-22	

	
	

25	 Cotter	Pin	
	

	
26	 Axle	Nut	1	1/4"	

	
	

	
Axle	Nut	1	1/2"	

	
	

27	 Bearing	Housing	LT-3	
	

	
28	 Bearing	Mount	

	
	

29	 Bearing	W-210	PP-2	
	

	
30	 Lock	Ring	

	
	

31	 Rear	Scraper	
	

	

	
Font	Scraper	

	
	



 

Strathmore Machinery, Inc. 
P.O. Box 11 
Strathmore, CA 93267 

Corner of Highway 65 & Avenue 196 
Strathmore, CA 93267 
(559) 568-1914 

 

(559) 568-1914 
 
PARTS LIST 
Suggested Price Schedule Effective  March 2017 
All Prices F.O.B. Strathmore, CA 93267 - All Prices Subject to Change Without Notice 

 
HUBS - WHEELS - SPINDLES 

FOR WHEEL OFFSET AND TANDEM DISC 
 
32 Hub Parts for Wheel Disc - Serial Nos. 6660 to 6889 and under 6571 

22834 Hub Complete No Longer Available 
2288 Bearing Cone  
2729 Bearing Cup  
1779 Bearing  
1729 Bearing Cup  
5070 Seal  
Z Washer (for Seal)  
Hub Cap (Threaded)  
Hub Cap (Drive)  

 
33 Hub Parts for Wheel Disc - Serial Nos. 6601 to 6659 and 6901 to 7776 

13-M Hub Complete w/Bearing Seal No Longer Available 
L M 29749 Bearing Cone  
L 29710 Cup  
L 44640 Cone  
L 44610 Cup  
441852 Seal  
Z Washer (for Seal)  
Hub Cap (Drive)  

 
34 Hub Parts for Wheel Disc - Serial Nos. 7777 and Higher 

86431 Hub Complete  
L-68149 Cone  
L-68111 Cup  
L-44649 Cone    
L 44610 Cup   
256-168-SP2-1 Seal  
Hub Cap  

 
 

 
See Next Page for Additional Models 

 
 



 

Strathmore Machinery, Inc. 
P.O. Box 11 
Strathmore, CA 93267 

Corner of Highway 65 & Avenue 196 
Strathmore, CA 93267 
(559) 568-1914 

 

(559) 568-1914 
 
PARTS LIST 
Suggested Price Schedule Effective  March 2017 
All Prices F.O.B. Strathmore, CA 93267 - All Prices Subject to Change Without Notice 

 
HUBS - WHEELS - SPINDLES 

FOR WHEEL OFFSET AND TANDEM DISC 
CONTINUED 

 
35 Model H (Hvy) Offset for Sizes 15’ and larger 
(Sizes 14’3” and smaller - Refer to Nos. 33 - 34) 
 
13 HRM Hub Complete w/Bearings - Seal  
Hub Only with Cups  
25580 Bearing Cone  
25520 Bearing Cup  
L M 67048 Bearing Cone  
L M 67010 Bearing Cup  
35544 Seal  
Hub Cap  

 
________________________________________________________________________________ 
 
 

All Sizes - 15 x 6 Wheels  
Single Spindle  
Spindle Nuts  
Spindle Washer  
  
Hvy 15’ Larger Spindle  
  
  

 
 
  



 

Strathmore Machinery, Inc. 
P.O. Box 11 
Strathmore, CA 93267 

Corner of Highway 65 & Avenue 196 
Strathmore, CA 93267 
(559) 568-1914 

 

(559) 568-1914 
 

PARTS LIST 
Suggested Price Schedule Effective March 2017 
All Prices F.O.B. Strathmore, CA 93267 - All Prices Subject to Change Without Notice 

 
STRATHMORE 

WHEEL TYPE 4 GANG TANDEM DISC 
 

PART # DESCRIPTION           # of Blades LENGTH OF AXLE  
17 Axle 1 1/2" Round                 4 31 1/2"  
 with Steel Flange                   5 40 5/8"  
                                                6 49 3/4"  
                                                7 58 7/8"  
                                                8 68"  
                                                9 77 1/8”  
                                              10 86 1/4”  
                                              11 95 3/8”  
18 Washer ST-30   
 Ext. Wash. X-30   
19 Half Spool ST-2   
20 Half Spool ST-1   
21 Spool ST-108   
24 Washer ST-22   
 Ext. Wash. X-22   
25 Cotter Pin   
26 Axle Nut       1 1/4"   
                       1 1/2"   
29 Bearing W-210 PPB-2   
30 90 MS Flangettes (per pair)   
31 Scrapers   

 
 
 
 
  



 

Strathmore Machinery, Inc. 
P.O. Box 11 
Strathmore, CA 93267 

Corner of Highway 65 & Avenue 196 
Strathmore, CA 93267 
(559) 568-1914 

 

(559) 568-1914 
 

PARTS LIST 
Suggested Price Schedule Effective  March 2017 
All Prices F.O.B. Strathmore, CA 93267 - All Prices Subject to Change Without Notice 

 
STRATHMORE 

3-PT 4 GANG TANDEM DISC 
 

PART # DESCRIPTION           # of Blades LENGTH OF AXLE  
17 Axle 1 1/8” Square              3 21 5/8”  
                                              4 30 3/4”  
                                              5 39 7/8”  
                                              6 49”  
                                              7 58 1/8”  
18 Washer G-30   
 Ext. Wash. X-30   
19 Half Spool SMW-LT 2   
20 Half Spool SMW-LT 1 - 9”   
 Asp. Disc LT 1 - 7”   
21 Spool A-108 - 9”   
 A-117 - 7”   
24 Washer G-22   
 Ext. Wash. X-22   
25 Lock Washer   
26 Axle Nut 1 1/8”   
    
29 Bearing W-210 PPB-2   
30 90 MS Flangettes (per pair)   
31 Scrapers   

 
X-Model 3-PT Tandem 
PART # DESCRIPTION   
19 Half Spool X-1   
20 Half Spool X-2   
21 Spool A-108   
29 Bearing W208 PPB-5   
30 80 MS Flangette (per pair)   

 
 
 


